e

Project

Parts Lis

Funded by the
Erasmus+ Programme
of the European Union

t quadcopter Assembling

b

—g .

l.ycféé -E;Inf-Exupéry
Blagnac

Mark| Quantity Description Picture Weight (gram) | Designation Hobby K Part numbers
1 X16 M3 Nut 0,375
2 X4 M3x25 Screw 1,25
o
3 X4 M3x18 Screw 1
4 X16 M3x12 Screw 0,937
5 X8 M3x5 Screw 0,375
6 X4 M3 Spacer Landing gears 0,5
Turnigy tactical 46038
7 X4 M3 Attachment Pillar 2 camouflage quad copter
8 X8 Arm Support 6,625
[ — ]
9 X1 Lower Shell 13
10 X1 Upper Shell 26
11 X8 Landing gears 4
12 X1 x 500mm Big Arm 28
13 X2 x 245mm Little Arm 14
m-/ LT 650 5,8 GHz 600 mW 32|
14] X1 Camera Transmitter T 30 channel 81332
Scratch Attachment Lipo | puuwe—sgy Lumenler Medium Lipo
15 X3 Battery 3 Battery Velcro Stap 97959
m .
l‘ ] Afroflight Naze32 Revé
16 X1 Flight Controller Board W 14 Flight Controller 96843
DYS 30Amp Mini Opto
BLHeli Multi-Rotor
17 X4 SPEEd Controler 11 electronic Speed C. 81795
R — Multirotor Carbon Fiber
18 X2 Propel ler 9 Propeller 9x4.7 Black 39772
> Multirotor Carbon Fiber T-
19 X2 Propeller 8 Style Propeller 9x5.5 Black 51967
Turnigy IA10B Receiver
—— | 10CH 2.4G AFHDS 2A
20 X1 Receiver —— 19 Telemetry Receiver 108669
g [ 1/3-inch SONY CCD Video
21 X1 Camera 46 Camera 16461
o Turnigy 3000mAh 3S 30C
22 X1 Lipo Battery 256 Lipo Pack 35867




23

X1

Power Distribution Board

Matek PDB-XT60 w/BEC 107425
\'7@ Turnigy D2830-11 1000kv

24 X4 Motor h 54 Brushless Motor 36392
‘_)‘_* Turnigy D2830-11 1000kv

24 X4 Piece Attachment Motor 2 Brushless Motor 36392
- Turnigy D2830-11 1000kv

241 X16 Motor Screw 0,25 Brushless Motor 36392
= Turnigy D2830-11 1000kv

24 X4 Propeller Binding Screw >~ 5 Brushless Motor 36392

TOTAL WEIGHT (gram) 931




